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[AEM311] Technical schools are more likely to sited in rural areas instead of urban
centres
FALSE

[AEM311] A settlement is regarded as large urban centre if it attracts a population of
about
100000

[AEM311] Superstition and taboos are scarcely given consideration in urban areas
because of the following except
government decrees

[AEM311] Agriculture is the dominant livelihood of -------------- dwellers
Rural

[AEM311] The high presence of electronic gadgets in urban towns is largely because of
presence of electricity

[AEM311] To the common person today, a village is different from a town based on
social amenities available

[AEM311] Specific days for market activities are key attributes of an
rural settlement

[AEM311] The major labour type used by rural farming households is
family labour

[AEM311] Examples of entertainment and recreational facilities include the following
except
none of the options
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